) (WyaFaF =Bz P oo Epy

Toq#48rT Qd’

12 1FFEH 256 2 o=
71‘—’5“) ) @(E]ﬁrx
25612 = (2%(wm)

THFRAMIAARETBHORD I IZEWN,,

54 (F) %1 4@

FEZBRORE - BR~2 b2AL
il B8

KDASTEESFEDFZUIZKES L, (R1)
DLIOIBEFFEDBEHOHHHOHET., TDBH
Dz (B2) ODKIICILTTKESICAND &

KOREF8en (b, (B3) D&SCEHLT

| ANBEKDREE 0mED F T,
() KESOEEEGETT N
() KESCASTLDKOBEREATT H

(1)

{2cm

(H2) (7m3)

8cm |20m |0cm

[ 2cm

34035, Ta ¥z

A KPP = A3 ﬂc@@m (@3>
(= \Q‘CM« = 3y F T :

e L

[Forsth = /WMI«- FET,

s AR

(2) (E13)
|2cm |
{ 2cm

Bx¥x4 =256 (cud)

lZ?cmz

(=)

C[E 3) a9 @ nyLr d;- *ﬂ 1/?_:_’/'__5#;
FEY04FHHE o Toar

KOAEYR 2T

BAnE oka1FFaa

[28%10 =280 (cw)

FEYe 1ZF8 ¢
Bx¥ x 12 = T4Y (cw)

Ko 1F 5853 |
12%0- 76% = 512 (cud)

A ——y,

Lsxzcﬁ




